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SECTION A

1. Each Question will carry 5 Marks
2. Instruction: Complete the statement / Select the correct answer(s)
3. All Questions are compulsory

SI.No Question Marks COs

Which among the following is the indicator of open stratification
system?

(A) Ethnicity

1 (B) Caste 5 Co1l
(C) Class
(D) Religion

Who among the following is associated with authority?
(a) Hobbes

(b) Rousseau

(c) Max Weber 5 Co1
(d) Locke

The word “Sociology’ is made up of two words. These are-
(a) Societies and Logy

3 | (b) Societia and Logistia 5 CO1
(c) Socious and Logos
(d) Socia & Logos

French Revolution took place in the year
(a) 1789

4 | (b) 1776 5 |Co1
(c) 1798
(d) 1898




refers to the division of a population into strata one on
top of another, on the basis of the possession of certain characteristics
which the society regards as desirable or less desirable.

5 (@) Social inequality 5 Cco1
(b) Social stratification
(c) Caste
(d) Hierarchy
Empirically verifiable observations are called ...............
a) Logics
6 b) Facts S Co1l
¢) Theory
d) Hypothesis
Section B
All questions are Compulsory
7 | Evaluate if Social Stratification is functional for society. 10 |co2
8 Define Patriarchy. How does patriarchy manifest in interpersonal 10 co?2
relations?
g | Define marriage and discuss the various forms of marriage. 10 | co3
10 | Explain Durkheim’s basic arguments in Suicide. Analyse high suicide 10 CcO3
rates in contemporary Indian Society with Durkheim’s theory of Suicide.
11 | Participant Observation is the most effective tool for collecting facts. 10 |coa4
Comment
Section C
Answer any ONE Question
12 Rapid Urbanization and Sustainable Development do not go together. 20 | COo4
Discuss with arguments.
13 | Critically evaluate the Reservation system in India. 20 | COo4
14 | Is Caste system changing, weakening or disintegrating in India? Give 20 | coa

suitable examples citing the concept of Sanskritisation







